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A== =D [y
33 NGEHM 2483t
Selr XNSZM 24313 F=A (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MEA T 5,861,501 22,437,402 16,575,901
= 27,540
== 931,278
Al 4,902,683
NSBH -3t 5,667,848 22,390,080 A16,722,232
= 27,540
< 931,278
Al 4,709,030
KSBN datAld =& 5,351,561 16,558,374 A11,206,813
= 27,540
== 931,278
Al 4,392,743
Sty 30,400 32,080 1,680
201 2= 800 1,920 A1,120
01 AtR2t2lt] 800 1,920 AT1,120
O=o1etd & i 24 e 82= M
- 2,000 =400H 800
301 EtE N = 29,600 30,160 A560
11 #AIMHIXIE = 800 1,360 560
OSIHZLIH ¥ ABINEH 2HE3
10,0002 x32& *13] 320
OSItZUH 2o #44g
20,0003 x24ZH*12] 480
14 JIEt2 8= 28,800 28,800 0
O=JIZ2UIH 242
100,000 x24H « 122 28,800
et a 2435t KA 64,811 28,534 36,277
= 27,540
= 19,278
Al 17,993
301 EtE NS 64,811 28,534 36,277
= 27,540
[ 19,278
Al 17,993
14 JIEt2d= 64,811 28,534 36,277
OFeagA gdst X3
64,811,000 64,811
= 27,540
< 19,278
Al 17,993
NSBH Al = 10,200 8,210 1,990
201 er23| 1,700 1,700 0
01 At2teltl 1,700 1,700 0
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33 NGEHM 2483t
el NSEH 243A =8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFSHAMUNME S| 3o AL
100,000& 7 & *13] 700
OSESMEHSAS 319 BHLL
100,000& *x10E 12l 1,000
203 =] 8,500 6,510 1,990
03 A=A 2= 8,500 6.510 1,990
OXNSZH &85t 2=
8,500,000& 8,500
2HITH 23 14,800 22,550 AT,750
201 Ler23| 2,000 3,750 A1,750
01 AlR 21| 2,000 3,750 A1,750
AHITIE Ml 310 BAlLY
100,000 x10H*23] 2,000
301 Eet2 NS 800 800
14 0Bt 2a3 800 800
OS948l aets 400,000 x224 800
307 lztol & 12,000 18,000 26,000
02 2B A HE L 12,000 18,000 26,000
OAHINESEHHI (B =R S RHEAIXIE]) X
& 12,000,000 12,000
ESg = DN L 2,178,650 3,967,700 1,789,050
201 eer23| 3,700 7,800 24,100
01 AtR2t2|HI 200 4,800 4,600
OGBS g3 A 200,000 200
02 s3=gHl 3,500 3,000 500
ORTA SARSSSTUHESFUH &oi2
EE 3,500,000& 3,500
306 £= 1,970,000 3,550,000 1,580,000
01 9= 1,970,000 3,550,000 21,580,000
OFINIEESHE 23
1,200,000,000& 1,200,000
OddEEeA EXHS
770,000,000 770,000
307 212+01& 200,000 400,000 200,000
08 OIXtE2& = 200,000 400,000 200,000
OL2480 SHES 0IXEA
10,000,000, 0003 »2%* 1t 200,000
401 Al HIZ 2018 4,950 9,900 A4,950
01 Al&H| 4,950 9,900 A4,950
OREA S4RSESSUHEFUH A==
Satel 4,950,000 4,950
S X S oHH 2 3,062,700 12,499,300 9,446,600
== 912,000
Al 2,140,700
101 e124d| 12,000 11,200 800
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33 NGEHM 2483t
el NSEH 243A =8 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 12,000 11,200 800
OCHIE 1Ay 1,500,000& «1H+8& 12,000
201 eet23| 2,700 11,100 28,400
01 AtR2t2|HI 2,700 11,100 28,400
OREAl XStHzgeda 22 38+
100,000 7 & x13] 700
SHHO0l 243 24|
2,000,000& 2,000
301 EtE NS 3,038,000 12,477,000 29,439,000
= 912,000
Al 2,126,000
14 DBt 2 a3 3,038,000 12,477,000 29,439,000
OXIistH LAXHA(<HI)
3,038,000,000& 3,038,000
=S 912,000
Al 2,126,000
dSAE 43 g 7= 316,287 5,831,706 A5,5615,419
HEANE 2435t 97,887 69,606 28,281
201 2egh=3| 73,887 69,606 4,281
2 S5=24g4l 73,887 69,606 4,281
OHSAE(EMA) DUIAMH B2BRZ 73,887
—HIIe3 4,770,0008 123 57,240
—& - otekRs 2,774,404 +62 16,647
307 21201 & 24,000 24,000
02 QB HANSEER 24,000 24,000
OHSAY ss=t3d 29
2,000,000& ~12& 24,000
HOIRA SHAE X2 218,400 218,400
307 elztol & 218,400 218,400
02 2B YA HE X 218,400 218,400
OdJ| dSAIEMLXN KI2AAS
2,600,000 * 14 122 +50f% 218,400
HY2E I (MESAH D) 41,562 47,322 A5,760
Jl=3H 41,562 47,322 Ab,760
Jl=2&H] 41,562 47,322 Ab,760
201 Ler23 | 25,722 24,858 864
01 At2teltl 16,552 14,688 864
ORMEgII1=23H| 15,552
—2etSH| 40,0002+ 182 »12&+0.8 6,912
—=4| 50,0002 *x18H*12&+0.8 8,640
02 s3=gHl 10,170 10,170 0
OoRER3 10,170
—get 4302 «5002 122 2,580
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S HY2FAH|(M
s Jl=dhl 2 HA)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—37I 2,530& x25024* 12& 7,590
202 0idl 12,960 19,584 A6,624
01 =LHO4b| 12,960 19,584 AB,624
SEEES
120,000 188 *12& 0.5 12,960
203 AR F=&lY| 2,880 2,880
M 2GS HRFAL 2,880 2,880
ORN2ILRFA|
300,000& *12&+0.8 2,880
HRES(MEZH ) 152,091 0 152,091
PSP 152,091 0 152,091
X2 Ol AtAtE 152,091 0 152,091
311 XA S0IA 152,091 0 152,091
03 SLEHEX 152,091 0 152,091
OR& ML A X XX OIKkt
AtEt 4,870,000,0002& *3. 123% 152,091




